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For even though the witnesses - JP@I7p 799 19597% N2 I7V7 23 Yy 1NRT
for intimacy, require the witnesses of the betrothal

Overview

When there are two witnesses that a woman was betrothed (she is an 77017X) and two
other witnesses testify that this woman had a relationship with another person, she
is put to death, for even though the testimony regarding 1X"2 is insufficient unless
there is the W 7P 7V, nevertheless since the PWYTp °7v stand alone, it 1S not
considered a 727 °xn1 (half a testimony), but rather a complete testimony (1727). It
would seem from this X7n3 that the 71X°2 7 alone are insufficient to put her to death,
unless we also have the 72172 >7v. Our MooIN clarifies this.
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The explanation of the statement Pw17p >7¥% 1°2°7% 178°2 >7v, is valid only as long as

this woman was not established as a married woman; however once it is established
that she is married,' the 7X*2 >7¥ do not require the W17y *7v any more, since it has been stablished
that she is an WX NWX.

Summary
We can execute people based on 112117 alone.

Thinking it over
Seemingly even if WX nwXa apimia, nevertheless the 7X°2 7Y need to rely on

something else, namely the 7P (even though it is not the w1 p »7v). Why was
nooIn bothered by the statement that Pw7R *7¥ 192778 AR 7Y7?

! People see that the man and woman are living together like man and wife; this establishes her status as an WX NWX
even though no one knows that they were married.
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